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1. ERAFELEIEREL: RTU-R160221)—X BRI -39 — k34T
2. EREDTELE: 5 5 R— X (RHB-E600B-1P & {*RHB-E600B-W)
3. BREFRETTHAM (¥R
4. HaREETT
(1) #ERARIE
DB S M (ke) (EKEE) M=| 271 |ke
QMR TS - W (kN) Gifi7k ) W=M X 9.80665/1000=| 2.66 |kN
QR ITZHEDEEBDIE: L (cm) L=| 474 |cm
@RI HAR DI EIDMIE :Lg(cm) Le=| 237 |cm
OHBDEDEES hglcm) he=| 1016 |cm
(2)5ZERE
OEBEEE  Me(kg) Me=| 352 ke
QEMEE W (kN) W:=M; X 9.80665/1000=| 345 |kN
QBRI 2ARDERERE L-(cm) Le=[ 600 |cm
@EBEEE he(cm) he=| 220 |cm
5. TiEEE
(D RETAKERE K, Ko=[ 04
(2)RETRAMERE Ky Ky=1/2xKy=| 02

NKEBRRITA-aBATELDBIEMND
(B)RFE—AVF:A(kN-cm)

A= (1-K)* ((L+(LeL)/2) %W+ (Le/2)¥We) =[ 14663 |kN+om

(4) BB E—A:B(kN-cm)

B=K*((hg+hg)*W=+ (h/2)*We) =| 14658 |[kN-cm

XLI=M>T. J. A>B
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